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Mental Ability Tec<l
Q1. If V=44 and FAT=54, then how will Q1. Tf& V=44 3R FAT=54 B, Al LATE %I
you code LATE? i TGN ? '
(a) 76 (a) 76
(b) 110 (b) 110
(c) 54 (c) 54
(d) 19 (d) 19
Q2. Three statements are given, Qz,?ﬁ:wu?{%qnq%,ﬁﬁ%am, Il Gﬁ"{
followed by three conclusions Wm a1 freey few 7T g1 38

numbered |, Il and [ll. Assuming
the statements to be true, even if they
seem to be at variance with commonly
know facts, decide which of the
conclusions logically follow(s) from the
statements.

Statements:

All rocks are oceans.

All oceans are balloons.

Some watches are balloons.
Conclusions:

|. Some balloons are rocks.

Il. Some watches are oceans.

l1l. All oceans are rocks.

(a) Only conclusion il follows.

(b) Only conclusions | and i follows.
(c) Only conclusions | and Il follows.
(d) Only conclusion | follows.

Q3. In a family, B is the father of K.B
has only two children. K is the brother
of R. R is the daughter of P. A is the
grand-daughter of P. S is the father of
A. how is S related to K?

a) Son

b) Brother-in-law

c) Brother

d) Son-in-law
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(a) Pad FsBY || SRROT FRAT B
(b)mﬁwﬁ@wmmﬁ%l
(c) Bad frspy | 3R 11 SFRRUT IR &
(d) Hae FIeeny | 3R HRAT 5 |
Q3. U GRGR H, B, K BT UAT 81 B b
FaAATATI K, RBIHE SIRICT B
P A PBIUI RIS, ABITUATRI S, K

J f5g yeR Jefdd g?
(a) ST
(b) SITSITSI
(c) HTg
(d) QTG
y |
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Directions: In Question Nos. 4 to 6,

3= Uy pHie 4 9 6 T AT U fywea

select the related letters/ word/ o I gdafyg 31&R/ Qeg/ ﬁ'@iﬂ/ﬁﬁﬁ
number/ figure from the given Wﬁl

alternatives.
Q4. Den : lion :: coop : ?
(a) Duck
(b) Swan
(c) Hen
(d) deer
Q5.3:28::5:7
a)179

by126
c) 124
d) 125

Q6. *‘2}::;?

(a) 89
(b) 96
(c) 225
(d) 209
Q7. In a row of boys, Sachin is 215 from
the left and Rahul is 12" from right. On
interchanging their places, Rahul
becomes 17" from right. How many
boys are there in a row?

(a) 36

(b)38

(c) 37

(d) 35

(
(
(
(

Q8. In a group of 26 persons, 15 like
tea while 18 like coffee, there is none
who dislikes both. The number of
persons who like both tea and coffee is

(a)9

(b)7

(c) 5

(d) 3

Q4.Inf{:3a?::§q:?
(a) dcdxd
(b) &

Q7. gD DI U ufdT §, afee arft ok
¥ 219 VI W § 3R Wgd e ¥ 123
QIR B | 30 R TG IR, A &Y
Y 17d R W 31 S1d1 81 U UfgT o
EREIRSEAT,

(a) 36

(b) 38

(c) 37

(d) 35
Q8. 26 AR o TH GG T, 15 B! 91T
UG § SIafd 18 BT BB UNE B, AT
IS Tof § Of &l &) AYE Har gl
fral & G B
(a)9
(b) 7
(c)5 I
(d) 3

21ty



Q9. Sanjay is standing facing south. He
walks 10km . straight, turns right and
walks another 10 km straight, turns
left and walks 10km straight and finally
turns left and walks 5 km to reach a
hotel. Which direction is he facing
now?

(a) North

(b) East

(c) South

(d) West

Q10. A and B start together from one
point. They walk 10 km towards north.
A turns left and covers 5 km whereas B
turns right and covers 3 km. A turns
left again and covers 15 km whereas B
turns right and covers 15 km. How far
is A from B?

(a) 18km

(b) 10km

(c) 5km

(d) 8km

Q11. The marked price of an article is
Rs 600. After allowing a discount of
25% on the marked pﬁce, there was a
loss of Rs30. The loss percentage is:
(a) 7.50%

(b) 7.25%

(c) 6.25%

(d) 6.50%

Q12. Find the odd one out from the
given options.

(a) A

b) H

)

(
(c) F
(d)N

Q9. T SR Y 3R T TR TS 3|
98 10 fp e =edI g, T HSAT 8 3R
fpx 10 forelt et <era B, S1C GSAT B
3R 10 fope e =T 8 SR 3id H ¢
a1 g 3R 5 el TaeR e g ab
UETdT §1 3T ITHT 49 b famr bl
3R B?

(a) 3}

(b) Id

(c) &féor

G B
Q10. A 3R g T& fdg ¥ Te A URYH

A §1 3 IW BT 3R 10 fFf werd B
AT SR gaa1 § 3R 5 ot Iaar 8
S B &% 3R gSdl § 3R 3 fobdl
JadT 21 A R i 3R qSaT § 3R 15
fprt Taidr § Sefes B G gSdT © 9k
15 e T 81 A, B fHal R &2
(a) 18 fordil

(b) 10 fordt

(c) 5 foouit

(d) 8 Tt

Q. e IR 1 3ifehe 7 600 ¥ 8|
3ifdhd el TR 25% B FT &l B §1G, 30
(a) 7.50%

(b) 7.25%
(c) 6.25%
(d) 6.50%

q12. feu 7t faeeul # 9 golls &1 =994
|
(a) A
b) H
)

(
(c) F
(d) N



Q13. Select the venn diagram that best Q13. 39 o9 MG ST TIT B o
illustrate the relationship between the uffRq af ¥ 4 d9y &1 gafag
following classes. LA CIERE TRIN

Tall men, Black haired people, Indians T TEHY, BT 91 91e T, YRS
() |

3 ()

Q14. The average of 12 numbers is 32. Q14. 12 T3 T %32 %’I Zﬂ% 139}
if @ 13th number is included, then the v Tfire @y & ST ) 3d 34 &)

average becomeg,34. What is 13th GﬂﬁT%lW% 1397 FaR?
number?

(a) 56
(a) 56 (b)58
(b) 58 (c) 52
0

by



Q15. A piece of paper is folded and Q15. m%wﬁ%aﬁlﬂwéz
punched as shown below in the ﬁ;mm%r}mﬁi:ﬁ%q&[ B{@T?ftﬁfr
question figures. From the given fagrgr w1 g1 fau W IR g,r@ﬁ'q‘[ 3
answer figures, indicate how it appear W%@aﬁm%mmw%—,

when opened?

# I'
, 2
4
£
. @
(a) ) oo
o
o Vo Z
] e 5
i .
G o
(b) Yo,
PR O
O e
o] (]
G .0
(©)
(c) o Vo
(o] (o]
°re O
[o] o o a
>0 e
[N

@

(d) 00
400 o

[ I ) ()
2 Mg : s
0/ o '_Luw.

Q16. What is the HCF of 35X 57 and Q16. 36 X 57 3R 25 X 35 T HCF &1 &2

2°X3°7? (a) 729

(a) 729 (b) 243

(b) 243 (c) 496

(c) 496 - (d) 1458
(d) 1458

Q17. Speed of a train is 324 km/hr. Q17. Wéﬁﬁﬂ% 324%/‘&’&%[%?
Distance travelled by the train in 198 gRT 198 @[ﬁﬁﬁﬂﬁﬂc\f@%

second is - (a )16984T-ﬁ
) 13791 m (b) 1379170
(c) 14423 m (c) 14423 ot
(d) 17820 m (d) 17820 HI

5y



Q18. Five students A, B, C, D, and E
each having a different height. D is
taller than E, who is taller than A. B is
shorter than E but taller than A. Cis
the only student who is taller than D.
Who is the shortest student?

(a) B

(b) E

(c)D

(d) A

Q19. In the English alphabets which

Q18. U BT A, B, C, D 3R E TP Bi
TS TT-STEI D, ED AT, SHATY
IS8l B, EA BT AfPTAT TSR C
UHHEIE S D Y AT g | JaA BT &7
B 87

(a) B

(b) E

(c)D
(d) A

letter is 4th to the Right of the tenth

letter from the left end?
(a)N
(b) K
(c) G
(d) H
Q20. The average weight of a group of
five people is 85 kg. If a new person
joined the group and the average
weight decreased by 5 kg, then find
the weight of the new person.
(a) 45 kg
(b) 58 kg
(c) 61 kg
(d) 55 kg
Q21. Asquare and agectangle have the
same perimeter. If .the side of the
square is 16 m and the length of the
rectangle is 18m, the breadth of the
rectangle is

(a) 14m
(b) 15m
(c) 16m
(d)17m

31&R B S Q AT 3HeR I 17
(a) N
(b) K
()G
(d)H

Q20. Ui AN & TYE &7 3M9d ao
85kg%lqﬁwwwﬁ BRI
ﬁwaﬁ?mqwﬁskgmus‘rllm a
U TS BT Fol J1d B

(a) 45 kg

(b) 58 kg

(c)61 kg

(d) 55 kg

Q21. U T 3R T 31ad H1 gy
T8 1 afe at &t Yot 16m B 3R 3mgd
1 AdS 18m B, A AT S ASTS &

(@) 14m

(b) 15m

(c) 16m

(d)17m

Q19. 3RIH quiaren § a0 BR @ cud
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Q22. Amit bought a table for < 1200
and spent <200 on its repair. He sold
it for X 1680. His profit or loss percent
is

(a) 12% profit

(b) 16% profit

(c) 20% loss

(d) 20% profit

Q23. In how many years does the sum

of T 1200 become < 1800 at the rate
of simple interest of 5% per annum?
(a) 10
(b) 20
(c) 15
(d) 25
Q24. 140.75 X 0.01 is equal to
(a) 140.75
(b) 14000.75
(c) 1.4075
(d) 0.14075
Directions (Q25-Q27): Study the
following information carefully and
answer the questions given
below:
A is the mother of D .and B. G's
daughter is married with™. F is the
brother-in-law of H. H arid M are not
siblings. M is the sister-in-law of B and
vice versa. F is the only brother of G
who is grandmother of K.
Q25. Who is the grandfather of K?-
{a) A
(b) B
(c)H
(d) M

Q22. 3fWd T T 1200 H TH <od WG
3R ITPT TR W T 200 T [T
3729 T 1680 H 5T feTT1 3BT 1Y
i ufawd g

(a) 12% TTH

(b) 16% <IH

(c) 20% BT

(d) 20% ATH |

Q23. S%mewﬁa?@r

fooem o ¥ T 1200 1 M STasod

SR

(a) 10

(b) 20

(c) 15

(d) 25
Q24. 140.75 X 0.01

(a) 140.75

(b) 14000.75

(c) 1.4075

d) 0.14075

ﬁ%&r(qzs Q27): fRafiRed SHeRt &1
ISP T HY 3R [T Ui &
JW S A |
A, D3R BHIH B G DI ] DI RMEI D
%ngé% FHPTFER-39-al g | H 3R
M T8 & UIS-g8I M, B Bt W1t B 3R
=9 Audial F,Gaﬂwlﬂ'if%\—:ﬁK
CARACIES
Q25. K B TIETHF 82
(a) A
(b) B
(c)H
(d) M

T/



Q26. How is F related to M?
(a) Father
(b) Uncle
(c) Grandfather
(d) Brother-in-law
Q27.1If Cis the wife of K, then how D is
related to C?
(a) Father-in-law
(b) Uncle
(c) Grandfather
(d) Brother-in-law
Direction (Q28-Q32): Study all the
information carefully and answers the
following questions given below:
Eight persons A, B, C, D, E, F G and H
sits in a row. All of them are facing in
north but not necessarily in the same
order. C sits third to the right of E. D
sits next to C. G sits second to the right
of D. As many persons sits between D
and G is same as persons sit between
E and H. B sits to the left of H, who sits
immediate to the right of A.
Q28. Who among the following person
sits 3rd to the right of A?
) C
(b) D
(c)B
(d)A
Q29. How many persons sit between B
and F? |
(a) 4
(b) 2
(c)5
(d)1

Q26. F, M T fg e R defig 27
(a) Trar
(b) T
(c) GTaTSi!
(d) SISt
Q27. 3G ¢, K P UA 8, dl b, ¢ ¥ fobg
UHR Gadd g2
(a) O
(b) TT=IT

(o) <Taeit

(d) SISl

fFe=r (Q28-Q32): Wt geFe @

YD T B R R B 7w

I?'Igl?i@ﬂ H%ﬁ%ﬁ?%

3 AfGT A, B, C, D, E F G 3R H U

Uik 1 93 8 | 3 et o1 g IR e

1 3R g AfhT et el fp s vy

81 C, E & g I R ®IM W) 9371 2

%gwﬁéa%lm‘méamaﬁ
|

Qee. Fufifea A Qs araafdd A &

R TR R RS2

(a) C

(b) D

(c) B

(d) A

Q29. B 3R F & o9 o iy 98 &7

(@) 4

(b) 2

(©) 5

(d) 1



Q30. Which of the following person
sits at the extreme end?

(a) A

(b) B

(c)D

(d) C

Q31. Which of the following pair of
persons are immediate neighbors of
the persons who sit at the extreme
ends?
(a) EF
(b) CG
(c) HC
(d) FB
Q32. What is the position of C with
respect to D?

(a) 4th to the left

(b) 3rd to the right

(c) Immediate to the left

(d) 2nd to the right

Q33. A, B and C together can do a
piece of work in 6 days. B and C
together can do the same piece of
work in 9 days. Find in how many days

A would complete the work alone?
(a) 18 days s

(b) 15 days

(c) 12 days

(d) 21 days

Q34. Two trains A and B cross the same
platform in 18 and 24 seconds
respectively. The respective length of
trains A and B is 240 metres and 210
metres and the ratio of their speeds is
3:2. What is the length of platform?
(@a)25m

(b) 20 m
(c)30m
(d)35m

Q30. Fufafaa § @ o araafad sifdw
TR IR 931 87

(a) A

(b) B

D

(d) C

Q31. Fgfafea ® @ o a1 sfeaal &
Wiel Sifdy 8R W 48 fdadl &
fpean usri 82

(a) EF

B

(c) HC

(d) FB

Q32. D & I T ¢ &1 RIF R 72
(a) TS 3R AT

(b) aT8 3R IR

(c)EfFf5§W§V3ﬁ?

(d) aTfgt 3R IR

Q33. A, B 3R C AP T &1 F 6
fe=t o 1 R Fhd g1 B R C e
34 1 oY 9 o H R A&d B I
I b A 31hl foba A A v g
HA?

(a) 18 f&1

(b) 15 f&a

(c) 12 f&a

(d) 21 fea

Q34. a1 Yamfear A 3R B UF @
WehH & HA: 18 3R 24 YHs H
TR BT &1 ST A 3R B &1 HHRN: dalg
240 HleX 3R 210 8

Hiex § 3R IS T BT YU 3:2 B
WethTH & TS f[hd-T 82

(a) 25 |l
(b) 20 Hi
(c) 30 |t
(d) 35 Hi

»



Q35.77.62+1.23+0.456 =7+ 34.56
(a) 47.446

(b) 46.474

(c) 44.476

(d) 44.746

Q36. Which number will replace the
question mark (?) in the following
series?

4,10, 27, 140, ?

(a) 379
(b) 973
e

(d) 397

Q37.3/8 0f 256 + 24 x4 =7

(a) 16

(b) 4

()1

(d) 8

Q38. Person A bought a bicycle and
sold it to B at a profit of 20%, B sold it
to C at a loss of 10%. If C bought the
bicycle at Rs 8640 from B, find the cost
price of bicycle for person A.

(a) Rs 8600

(b) Rs 9200

(c) Rs 8000

(d) Rs 10400

Q39. The difference between present
ages of Roshni and Simran is 9 years.
After 7 years, Roshni’s age is twice of
Simran’s age. What will be Roshni’s age
after 4 years?

(a) 18 years

(b) 17 years

(c) 15 years

(d) 13 years

Q35.77.62 + 1.23 + 0.456 = ? + 34.56

(a) 47.446

(b) 46.474

(c) 44.476

(d) 44.746

Q36. FElIRT saan o o9 O G Uy
g (2) TR T

4,10, 27, 140, ?

(a) 379

(b)973

(c) 937

(d) 397

Q37.3/80f 256+ 24 x 4 = ?

(a) 16

(b) 4

(c)1

(d) 8

Q38. KT A 7 T Ugfed T 3R
SUBHIATRIT SN 20% AU, BT
10% BIM W cdl o= fear afe fi s 9
8640 ¥ H Trsford WL, &N Fd
DI safad A & fore arsferd &l piaa.
(a) 8600 ST |

(b) 9200 ¥TY

(c) 8000 >UY

(d) 10400 ST

Q39. I G 3T &b ST BT 3R I
IR R 9 Qe 1 § 1 7 97t o1, L+
B 3 RIRA B I A AT 2| Pelei
4 9 qTE AR BT 31 T B

(a) 18 99 '

(b) 17 Y

(c) 15 gY

(d) 13 99

'y



_...£companies. .Viz. ..

Q40. 20% of 150 + 14% % of 630 = ? +

50

(a) 50
(b) 70
(c) 90
(d) 60

Directions (Q41-Q45.): The line graph
given below shows the no. of
employees (in thousand) of 5 different

Nokia, TATA, Apple in year 2023. Study
the graph carefully and answer the
following questions.

xxxxxx

Q41. What is the average no. of
employee in all the companies?

(a) 420000

(b) 390000
(c) 520000
(d) 430000

Q42. What is the ratio between no. of
employee in Goggle and TATA together
to that of Nokia and Apple together?
(a) 21/10

(b) 15/16
(c) 8/7
(d) 4/3

Microsoft,.. Google,.

Q40. 20% of 150 + 14% % of 630 = ? + 50
(a) 50
(b) 70
{(c)90
(d) 60

fAcar (Qa1-qas): A oo T e I
7?§€ﬁ3@ﬂ6?% aﬂﬁaﬂitﬁEﬁT€R§ﬂ
'ﬁ)s'ﬁﬁiﬁiaﬂﬂ?ﬁﬂ~azmalIﬂg&ﬁ%ﬂqa

TR, AT AR 2023 F-TTeT TR T

I B AFGdD  HFTT B aﬁv

£

Q41. 9t ol & sHaRal &t sia
T T 57

(a) 420000

(b) 390000

(c) 520000

(d) 430000

Q42. T[T SR TTET T AT T T

gmﬁq‘rﬁ T o &g ol 37394
?

@ 21/10

@ 15/16

(M 8/7 ,

@ 4/3




Q43. If number of employees in
Reliance is 75% of no. of employees of
Microsoft, find the no. of employee of
Reliance. |

(a) 400000

(b) 375000

(c) 345000

(d) 337500

Q44. No. of employees in Google is

what percentage of no. of employees

in Apple?
(a) 150%
(b) 120%
(c) 175%
(d) 125%

Q45. Number of employees in
Microsoft is how much percentage
more or less than number of
employees of TATA?

(a) 135%

(b) 150%

(c) 125%

(d) 75.5%

Q43. gfe Ramg # oHaal ot T8
75% B HIEHNEUE & SUARGl @)
T, Ry &7 HaR &1 =1 1 d
DIT?

(a) 400000
(b) 375000
(c) 345000
(d) 337500

Qa4 Googm%ﬁiﬁﬂiaﬁnﬂ CARRILE)]

o & T BT fbad

(a) 150%
(b) 120%
(c) 175%
(d) 125%

Q45. AHITE H HHATRYT BT T
erel H HHAINGl $1 T ¥ fhdq
yforerd 3iftie a1 By 82

(a) 135%
(b) 150%
(c) 125%
(d) 75.5%

"y



Direction (Q46.-Q49.): In each of the
questions below are given some
statements  followed by two
conclusions. You have to take the given
statements to be true even if they
seem to be at variance with commonly
known facts. Read all the conclusions
and then decide which of the given
conclusions logically follows from the
given statements disregarding
commonly known facts.

(a) If only conclusion | follows.
(b) If only conclusion I follows.

(c) If either conclusion | or |l follows.
(d) If both conclusions | and 1l follow.

Q46. Statements:
Some Solution is Problem.

All Problems are Answer.

Conclusion 1I: Some answers are
Problem.

Conclusion ll: ?ome solutions are
answer.

Q47. Statements:

All Soft is Calm. No Hard is soft.
Conclusion I: Some Hard are Caim.
Conclusion lI: No hard is calm.

Q48. Statements: All Amit is Bhaskar.
All Bhaskar are Jatin.

Conclusion I: All jatin are Bhaskar.
Conclusion II: Some Bhaskar is amit.

QA9. Statements:

Some Delhi are Haryana.

Some Haryana are Gujarat.
Conclusion I: Some Gujarat is Delhi
Conclusion II: All Delhi being Haryana
is a possibility.

( >tr1%

fa=mm (Q46.-Q49.): - fAU T yI®H

T B 56 HYT 3R I 916 &l (s

fau g &1 3yl AU Y Wyl @l T
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Q50. If PEAR is coded as 7519 and TOIL  Q50. ?:I'% PEAR ﬁ 7519 Ga?' TOIL ﬁ
is coded as 2693, then how will 2693 ®ifed fHaT T e A DOCTOR B
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General Awareness

Q1. Acid rain is caused due to air pollution by
(a) Nitrous oxide and sulphur dioxide
(b) Carbon dioxide
{c) Carbon monoxide
{d) Methane

Q2. The mother of Mahatma Gandhi was:
(a) Putlibai
(b) Heerabai
(c) Kamlabai
{d) Kasturbabai

known as ‘Dakshin Ganga’?
(a) Tungabhhadra

(b) Godavari

{c) Periyar

(d) Krishna

Q4. Which of the following banks was
authorized to issue Electoral Bonds?
(a) State Bank of India

{(b) HDFC Bank

(c) ICICI Bank

(d) Corparation Bank

Q5. The 77th Annual Cannes Film Festival 2024
was held in

{a) United Kingdom

(b) italy

{c) Russia

(d) France

Q6. Who is the Captain of the indian team that
is playing the World Cup 2023 in India?

(a) Shikhar Dhawan

(b) MS Dhoni

(c) Hardik Pandya

(d)Rohit Sharma

Q7. World Environment Day is celebrated on
(a) June5
(b) February 28
{c) November 14
{d) July 15

Q8. Which energy comes from Sun?
(a) Wind energy

{b) Thermal energy

(c) Tidal energy

(d) Solar energy
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Q9. The major goal of the Green Revolution has
been to
(a) Decrease the use of modern farm
machinery
Decrease population growth
Increase agriculture output
Increase the number of traditional
farms.
Q10. Dengueis a
{a) Viral infection
(b) Fungal infection
(c}) Bacterial infection
(d) Protozoan infection

(b)
c)
(d)

-Q11. Rotation of crop.is essential....ccoouo
(a) Forincreasing the quantity of minerals
(b) For increasing the quantity of proteins
(c) For getting different kinds of crops

(d) Forincreasing the fertility of the soil.

Q12. Earth is protected from ultra-violet
radiation by means of

(a) Oxygen layer

(b) Ozone layer

(c) Nitrogen layer

(d) Carbon dioxide layer

Q13. Photosynthesis occurs
{a) Onlyin leaves
(b) Only in stems
(c) Inall green parts of plants
(d) Inthe roots

Q14. Match column A with column B

Vitamin Deficiency
i Vitamin A a. Beriberi
ii. Vitamin B b. Night
’ blindness
iii.  Vitamin C c. Osteoporosis
iv. Vitamin D Scurvy

i—b, ii- a, iii- d, iv-¢
i—d, ii- ¢, iii- b, iv-a
i—b, ii- ¢, iii- a, iv-d
i—c,ii- b, ili- d, iv-a

a0 oo

Q15. Which country hosted the FIFA Women'’s
World Cup 20237?

{a) Italy and France

(b} Japan and China

(c) Australia and New Zealand

(d) United States of America and Canada
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Q16. Who got the Filmfare award for Lifetime
achievement award in 20237

(a) Prem Chopra

(b) Irfan Khan

(c) Anupam Kher

(d) Sharmila Tagore

Q17. According to area, which is the largest
country in the world?

(a) China

(b) Brazil

(c) Russia

(d) USA

Q18. The author of the novel ’The Mmlstry of
Utmost Happiness” is

(a) Kiran Desai

(b) Arundhati Roy

(c) Vikram Seth

(d) VS Naipaul

Q18. In November 2024, who became the 51st
Chief Justice of India?

{(a) Justice Hemant Gupta

{b) Justice Sanjiv Khanna

(c) Justice DY Chandrachud

(d) Justice Indira Banerjee

Q20. Cristiano Ronaldo belongs to which
country?

(a) Germany

(b) Portages

(c) Argentina

{d) Brazil

Q21. Which was the first country to host the
Asian Games? :

(a) China

(b} India

(c) Japan

(d) Sri Lanka

Q22. According to the Census of India (2011),
which group of states have a very high
percentage of the rural population?

(a) Goa and Odisha

(b) Rajasthan and Gujarat

(c) Punjab and Haryana

{d) Bihar and Assam
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Q23. Kolar fields were famous for which of the
following minerals?

(a) Copper mining

{(b) Coal mining

{c) Diamond mining

(d) Gold mining

d¥%4. Uttar Pradesh is famous for which of these
classical dance forms?

(a) Kathakali

{(b) Kathak

{c) Bharatanatyam

{d) Sattriya

Q25 Chlpko movement was ba5|caIIy against
" (a) Cultural pollution ‘
(b) Deforestation
(c) Noise pollution
(d) Water pollution
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English Language

Directions (Q1-Q5): In the following passage some words have been deleted. Fill in the blanks with
the help of the alternatives given. Select the most appropriate option for each blank.

During organized tours in Germany, tourists can (1) a former Nazi compound 40
kilometres from Berlin (2) _ the ‘Forbidden City’. Around Twenty thousand people visit this
place (3) year to learn about Nazi military history. The Nazis (4) militarily active at
the compound, which was kept (5) in a forest and behind a fence. They hid underground
bunkers in country homes, and they planned much of World War Il here.

Q1. Select the most appropriate option for blank No.1.
(a) visit | |

(b) travel

{c) trip

(d) stay

Q2. Select the most appropriate option for blank No. 2.
(a) calling

{b) calls

(c) call

(d) called

Q3. Select the most appropriate option for blank No.3.
{a) whole

{b) one

(c) every

{d) all

Q4. Select the most appropriate option for blank No. 4.
(a) was

(b) has been

(c) have been

(d) were

‘S/ih



Q5. Select the most appropriate option for blank No.5.
(a) mysterious

(b) holy

(c) sacred

{(d) concealed

Q6. Select the word which means the same as the group of words given.

Something that cannot be avoided

fayTndatiple

(b) infallible

(c) inevitable

(d) invincible

Q7. Select the correct indirect form of the given sentence.
Mr. Puri said to me, “Why are you taking down this fence?”
(a) Mr. Puri asked me why was | taking down this fence.

(b) Mr. Puri said to me why you were taking down that fence.
(c) Mr. Puri asked me why | was taking down that fence.

(d) Mr. Puri said to me that why are you taking down this fence.

Q8. Select the word which means the same as the group of words given.

A person belonging to a foreign country

{a) native

(b) resident

(c) alien

(d) inhabitant

Q9. Select the most appropriate synonym of the given word.
EXPOSE

(a) hide

{(b) bury

(c) reveal

(d) pfotect

Ein



QlO. Select the wrongly spelt word.

(a) celebrity

{b) celebrate

{c) celebrant

(d) celeberation

Q11. Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order. |

A. Later, they set up their own art school and gatlery In the prison; = st s
B. The prisoners wanted to display their art work inside the prison.

C. They took the help of volunteers from the School of Art.

D. Prisoners who were interested in visual arts and painting could study there.
{a) BCAD

(b) DCAB

(c) BDAC

(d) CBAD
Direction(Q12-Q13) : Select the most appropriate word to fill in the blank.
Q12. We are also cautious divide secular votes.

{(a) not

(b) to not

{c) not to

(d) None

Q13. They working with me since 2000.

(a) have

(b) are

(c) have been

{(d) has been

] //n



Q14. Select the wrongly spelt word.

(a) Forfeit

(b) Gorilla

(c) Blissfull

(d) Corrupt

Q15. Select the correct indirect from of the given sentence.
The shopkeeper asked me, “Where is your car?."

(a) The shopkeeper asked me where my car was.

(b) The shopkeeper asked me where my car is.

(c) The shopkeeper asked me where was my car.

(d) The shopkeeper asked me where is your car.

Q16. Select the most appropriate meaning of the given idiom.
Bite your tongue

(a) talk for a long time

(b} be impossible to be understood

(c) get bruises in the mouth

(d) stop yourself from saying some;ching

Q17. Select the most appropriate meaning of the given idiom.
Tit for tat

(a) to reward people for the good done

(b) to do harm as done to you

(c} to make someone angry

(d) to take advantages of someone

Q18. Select the word which means the same as the group of words given.

A type of dome-shaped shelter built from blocks of solid snow.
(a) chalet

(b) wigwam

(c) hut

{d) igloo



Q19. Select the most appropriate option to substitute the underlined segment in the given sentence.
If there is no need to substitute it, select No improvement.

He tried to prevent his friend to smoke.
{a) from smoking

(b) No improvement

(c) smoking

(d) to srﬁoking

Q20. Choose the antonym of DISASTER.

{(a) Accident
(b) Defeat
(c) Miracle
(d} Rough

For questions 21 to 25 read the passage and answer the questions that follow.

There were once six blind men who stood by the road-side every day, and begged from the people
who passed. They had often heard of elephants, but they had never seen one; for, being blind, how
could they?

It so happened one morning that an elephant was driven down the road where they stood. When they
were told that the great beast was before them, they asked the driver to let him stop so that they
might see him.

Of course they could not see him with their eyes; but they thought that by touching him they could
learn just what kind of animal he was.

The first one happened to put his hand on the elephant's side. "Well, welll" he said, "now | know all
about this beast. He is exactly like a wall."

The second felt only of the elephant's tusk. "My brother," he said, "you are mistaken. He is not at all
like a wall. He is round and smooth and sharp. He is more like a spear than anything else."

The third happened to take hold of the elephant's trunk. "Both of you are wrong," he said. "Anybody
who knows anything can see that this elephant is like a snake.”

The fourth reached out his arms, and grasped one of the elephant’s legs. "Oh, how blind you are!" he
said. "It is very plain to me that he is round and tall like a tree."

The fifth was a very tall man, and he chanced to take hold of the elephant's ear. "The blindest man
ought to know that this beast is not like any of the things that you name," he said. "Hei.s exactly like a
huge fan."

C//fo



The sixth was very blind indeed, and it was some time before he could find the elephant at all. At last
he seized the animal's tail. "O foolish fellows!" he cried. "You surely have lost your senses. This
elephant is not like a wall, or a spear, or a snake, or a tree; neither is he like a fan. But any man with a
particle of sense can see that he is exactly like a rope."

Then the elephant moved on, and the six blind men sat by the roadside all day, and quarrelled about
him. Each believed that he knew just how the animal looked; and each called the others hard names
because they did not agree with him.

Q21. Choose a suitable title for the given passage.

(a) The Journey of Elephant

(b) Blind Men and the Elephant

...{c). How the Elephant was Created . . . .
(

d) The Unity of Blind Men
Q22. Why did the blind men ask the elephant handler to stop?

{a) Because they wanted to see (feel) the elephant
(b) Because they wanted to feed the elephant
(c) Because they were scared of elephant

(d) Because they wanted to ride on the elephant

Q23. Choose the statement which is incorrect.

{a) They thought the touching the elephant they could learn just what kind of animal he was.
(b) The first blind man put his hand on the elephant’s sides.

(c) The second blind man said that the elephant was like a snake

(d) The sixth blind man touched the elephant’s tail.

Q24. According to the passage, the fifth man touches the elephant’s ear and said that he was
exactly like a '

(a) Snake
(b) Tree
(c) Spear
(d) Huge fan

Q25. According to the passage, the fourth blind man grasped the elephant’s

Trunk
Tusk
Leg
Tail

{a
(b
(c
(

)
)
)
d)
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Paper-Ill (Concerned subject — Computer)

Q1. In computer terminology, what is the full
form of RAM?

(a) Random Access Memory

{b) Repeated Access Memory

(c) Rapid Access Memory

(d)Regular Access Memory

Q2. Electronic mail has the advantage of
a} Record keeping

b) Cost

c) Speed

d) All of these

Q3. Which of the following is not a part of the
processor of a computer? ‘

(a) ALU

{b) CU

(c) Registers

(d) RAM
Q4. Which category the Monitor, prlnter plotter,
etc. classified?

(a) Input category

(b) Central processing category

{c) Output category

(d) Control category

Q5. What is called the brain of the computer?
{(a) System software
{b) Application software
{c) Hard disk
(d) Central Processing Unit (CPU)

Q6. How many bit make a Byte?
(a) 1024 KB
(b) 8 bit
(c) 1024 MB
(d) 1024 GB
Q7. Which hardware component controls the
cursor on screen?
(a) Keyboard
{b) Mouse
(c) Speed
(d) Function

Q8. Hard disk is measured by its? ‘
(a) Weight
(b) Capacity to store data
{c) Cost
(d) Size

Q1. SR YsTadl! § RAM &1 JUT &7 7 87
(a) Random Access Memory

(b) Repeated Access Memory

(c) Rapid Access Memory

(d) Regular Access Memory
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(a) ALU
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Qs. is a computer program that
translate and executes program at run time line
by line.

a) Compiler

b) Assembler

c) Language converter

d) interpreter

Q10. Which one is an example for OS?
a) Antivirus

b) Windows

c) MS Office

d) Macromedia

— — — —

Q11.What steps should be taken, if windows not

updated automatically?
(a) start — control panel — settings — add
programs — enable automatic update
(b) start—setting — control panel — system —
enable automatic updated
(¢} re-install windows OS
(d) restart windows

Q12. Computers on the internet owned and
operated by education institution form part of
the

a) com domain

b) edu domain

c) mil domain

d) none of these

Q13. Which of the following networking solution
is suitable for networking in a building?

a) WAN

b) MAN

c) LAN

d) All of these

Q14. A host on the internet finds another host
by its

a) Postal address

b) IP address

c) Electronic Address

d) None of these

Q15. Which of the following protocols is used in
the internet?

a) HTTP

b) DHCP

c) DNS

d) All of these
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Q16. Which of the following protocols is used for
WwWw? '

a) FTP

b) HTTP

c) W3

d) All of these

Q17. What is an instance of a database

a) The logical design of the database system

b) The entire set of attributes of the database
put together in a single relation

c) The state of the database system at any given
point of time

"d) The initial values inserted into the database
immediately after its creation

Q18. Which of the following command do we
use to delete a relationship from a database

a) Delete

b) Drop

c) Remove

d) All of these

Q19. Which of the following is not a function of
the database ?
a) Managing stored data
b) Manipulating data
c) Security for stored data
d) Analysing code

Q20. Querying and selecting data from a table is
called

{a) data update

(b) data retrieval

(c) data definition

(d) database administration

Q21. Which Operating System is used by the
Apple computer systems (an American
technology company)

(a) Linux

(b) Mac
(c) Solaris
{d)} Windows

Q22. Hypertext Transfer Protocol (HTTP) is:

(a) A text-based protocol used when
sending emails.

(b} Fetching an HTML documents from a
“web server

(c) Protocol used to find an IP address.

(d) Transferring files from one computer to
another.
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Q23. Given below are two statements

Statement I: An operating system controls
peripherals, and allocates memory and
processor time.

Statement II: An operating system provides

internet access.
In light of the above statements, choose the
correct answer from the options give below:
(a) Both Statements | and Statement Il are
true
{(b) Both Statements | and Statement 1l are
false
(c) Statements | is true but Statement Il is
~ false
\ (d) Statements | is false but Statement Il is
true
Q24. What is a blog?
(a) Internet
(b) Online Journal
(c) Personal website in the form of a journal
(d) Search engine

Q25. Which memory is used as part of the
processor?

(a) Hard disk

(b) RAM

{c) Registers

(d) ROM

Q26. The Post Office protocol is: .
Protocol used for sending emails.
Protocol used to transfer of files from
one computer to another computer

(c) Protocol wused to handle email
attachments.

Protocol used when receiving emails
from the email server

Q27. In electronic banking, ATM stand for;
(a) Automated Teller Machine
(b) Automated Transfer Money
(c) Automatic Transfer Machine
(d) Automatic Transfer Mode .
Q28. What is Ethernet?
(a) A collision detection protocol
(b) A protocol used by many wired LANSs.
(c) A protocol used for address translation
(d) A security protocol
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Q29. What is the World Wide Web (WWW)?

(a) Collection of webpages stored on
websites

{(b) Hypertext processor

(c) Interconnected networks

{d) Web browser

Q30. With respect to Computer Virus, which of
the following statements is True?

(a) 1t is a kind of physical impurity which
present in the CPU causes it to
malfunction.

(b) it is a computer program that infects a
computer and thereby sends unsolicited
bulk email.

(c) It is a computer program which copies
itself to infect a computer without the
permission/ knowledge of user.

- (d) Itis anaccumulation of dust on the hard
disk causing it to malfunction.

Q31. Which of the following group of statements
in the context of Information Technology (IT) is
correct?
1. Mouse, Keyboard and Plotter are all
input devices.
2. Unix, Windows,
operating systems.
3. Register, Cache Memory, and Hard Disk
are all memory modules.
4. Monitor, Printer, and Scanner are all
output devices.
Choose the correct answer from the options
given below:
(a) 1and 2 only
(b) 1and 4 only
{c) 3and4only
{d) 2 and 3 only

and Linux are all

Q32. What is the binary equivalent of the
decimal number 67.6257

(a) 1000010.110

(b) 1000011.110

{(c} 1000010.101

(d) 1000011.101

Q29. I8 T3S 9 (WWw) ST 8?

(Q) J&ZE] R TUBId dausl &1 HUg
(@) BEIRCRS URRR

() SeFAa S AT

(S 99 FISR

Q30. HR IAY & ey ¥ frgfafea 4 @
B T HYT I 87 :

(a) T TP TGHR BT I G 5 ol Uiy
A ANE 1§ IUH BRI ST S B

(b) T8 TS HT UIUTH & Sl R Bl Aeh i
BdI & 3R 3 G 3T Teob SHA Hordl g |
(c) U8 TP HIeR UM § S IudiTdal o

H P T oo i s=ar 81
(d) T8 BTS 8% IR 4 BTG & oy Rur
Tg TWE gl Il g

Q3L FET Wt (i) & He! A ffafea o

YD W HYT T Te1 67

%‘ A, Bl SR Wik 9t ey f8azy
1

2. g, fiee ofR fomam @it offqefen

e gl

3. AR, U AR 3R 818 Tev it ARy
S

%.ﬁﬁa,ﬁaeﬁ?Wmﬁm%am
|

= fu e fawed! & @ 98 S|

(a)WlGﬁ"\fz

(b) AT 1 3R 4

(c) Pad 3 3R 4

(d) $ad 2 3R 3

Q32. GRHTT BT 67.625 P TFARI GHIH
EIEE

(a) 1000010.110

(b) 1000011.110

(c) 1000010.101

(d) 1000011.101
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Q33. Given below are two statements regarding
a smartphone that has both Bluetooth and Wi-Fi
technology:
Statement 1: Wi-Fi has a shorter range than
Bluetooth.
Statement II: Wi-Fi can transmit data at a faster
rate than Bluetooth.
In light of the above statements, choose the
correct answer from the options give below:
{a) Both Statements | and Statement Il are
true
{b) Both Statements | and Statement |l are
false

_[c} statements | is true but Statement Il is

false
(d} Statements | is false but Statement Il is
true
Q34. An IT Company has recently produced a
new laptop model that uses less power, is
smaller in size and weight less than previous
laptop models. The technology that has been
used to accomplish this, is:
(a) Faster, RAM
(b) Blu-Ray, Drive
(c) Solid State Hard Drive
{d) LCD technology
Q35. identify the correct order of the following
storage capacities ranked from largest to
smallest capacity

1. 1500 MB
2. 5KB
3. 1GB
4. 278

Choose the correct answer from the option
given below: ’

(a) 4,1,3,2

(b) 1,4,3,2

(c) 1,2,3,4

(d) 4,3,1,2
Q36. In computer ASCII stands for:

(a) Algorithm Selection Code Information

Interchange

(b) Asympatatic Sorting Code Intermediate
Interface

{c) American Standard Control Information
Interchange

{d) American Standard
Information Interchange

Code for
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Q37. What is the purpose of blockchain?
{(a) To block the network
{(b) To block the data
(c) To secure the data
(d) Tointerlink the data

Q38. Bluetooth is:
(a) Interoperability protocol
(b) Peer-to-peer networking protocol
(c) Short-range data transmission protocol
(d) Wireless LAN protocol

Q39. What is the full form of MODEM?
(a) Mechanism of Disk Enhancing Memory
(b) Mobile data Extranet Multlcore
{c) Modern Electronic Microwave
(d) Modulator-Demodulator

Q40. URL is a:
(a) Uniform Remote Login
(b) Uniform Resource Locator
(c) Unique Remote Login
(d) Unigue Resource Locator

Q41. What are Firewalls?

(a) Hardware of software that sits between
a user’s computer and an external
computer.

(b) Used for address translation in the
Network Layer

(c) Used for Network Congestion control

(d) Used to store the Network interface
card.

Q42. Which of these
podcasting?

(a) Audio

(b) Spotify

(c) Microphone

{(d) Microsoft Excel

is not related to

Q43. When a computer is switched on, the BIOS
is loaded from:
{(a) Hard Disk
(b) RAM
(c) ROM
(d) CD-ROM
Q44. What is Phishing?
(a) Akey logging software
(b) It uses networks to
computers
(c) RE-directs the user to a fake website

search out

;(b marsaé’a
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(d) Someone sends
emails to users.

Q45. A device driver is:
(@) A port that connects a device and a
system.
(b} A software that communicates with the
operating system and translates data in
a format understood by the device

legitimate looking

(c) A software that performs disk
compression.

(d) A software that performs disk
defragmentation.

Q46. With respect to computers, which of the

following. groups. consists of volatile. memaory...

only?
(a) RAM and Pen Drive
(b) Hard Disk and ROM
{c) RAM and Cache
(d) Cache and ROM
Q47. Which of the following is not the basic
capability of a computer?
(a) Speed
{(b) Accuracy
{c) Prediction
(d) Processing

Q48. Which of the following is the name given to
the number of concentric circles on a diskette?
(a) Sectors
(b) Cylinders
(c) Tracks
(d) Clusters

Q49. The copies of data or program files are
always stored as a safety. Which of the following
is the name given to these copies?

(a) Backups

(b) Programs

(c) Extras

(d) Stores

Q50. A malware is an
{a) program

(b) hardware

(c} a person

{d) None of these
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